


76 * 2 =

152



108 : 12 = 

9



(74 - 55) * 4 =

76



(35 + 50) : 17 = 

5



(88 : 4) * 5 =
110



(13 * 6) + 28 =

106



Расшифруйте слово, выполнив 
вычисления:

24004 
: 4

72009 
: 9

3507: 
7

40040 
: 5

12024 
: 6

5656 : 
8

Р М И Е Н З



501 – 
707 – 

8001 – 
8008 – 
6001 – 
8008 –  
2004 – 
501 –

8008 – 
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И
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7_
3



Алгоритм нахождения n-й 
доли единицы

1. Разделить целую единицу на n 
равных части.

2. Взять одну из равных частей



1 вариант: № 6 (а,б,
г)

2 вариант: № 6 (в,д,
е)


